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(e} (i Derive the total revenue function
R(Q), given the marginal revenue
function as R(Q)=100-0-50Q. 4

(i) If
1.2 0 4 2 b (o) 8
= dB=
A[24A13]an [1—123]
find a matrix C of order 2 x4 such
that A-C=3B. 6

() In a three-sector economy, the input
coefficient matrix and final demand
vector are as given below :

0:3 0:2 0-3 500
A=|0-1 0:3 0:4|and F=|700
0:2 0:3 0 600

Find the sectoral output X;, X, and X3
using Cramer’s rule. 10

@ ) If

A—l‘lla—(ln_llo
(0)) 4701 R 7
il

1
and C=(0
1

)

prove that (AB)C = A(BC), 8
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(ii) Prove that if
a determinar
row (or colu
determinant

(h) Write short notes

(i) Partial diffes
differentiatior

(i) Assumptions
model
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(g)

()
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Answer the following questions :

(@)
(b)
(c)

@)

2)

Give two examples of ‘near money’.

Who frames the monetary policy of
India?

What distinguishes selective credit
control from quantitative credit control?

What is a ‘surplus unit’ in an economy?

Which of the following is not a debt
instrument?

Bond, Debentures, Equity,

Treasury
Bills

State the components of ‘narrow
money’. )

Name two assets and two liabilities of g
commercial bank,

State two distinguishing features of a
monetary policy.

What are the main com

ponents of g
financial system?

(¢) Name two National Stock Exchanges
of India.
A15—4200/318

( Continued )

2x5=10

( 3

3. Answer any four of the

(a)
(b)

)

(d)

(e

State briefly the f

What is the conf
and . profitability
commercial bank?

What  are  the |
creation of a com

Are the goals o0
output and price
with each other?

Distinguish betwe
and the capital T
examples.

What is a stock o
calculated?

4. Answer any four of th

(a) Discuss how mo:

the exchange €co

(b) Discuss different

(c) Explain the proce

a commercial ba
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